
Pracovní list 

Jsou podobné následující dvojice trojúhelníků? Pokud ano, určete poměr 
podobnosti a správně podobnost zapište. 
 
Příklad 1: 
a) ∆𝐴𝐵𝐶: |∢𝐴𝐵𝐶| = 36°, 𝑎 = 9 𝑐𝑚, 𝑐 = 60 𝑚𝑚 

∆𝑋𝑌𝑍: |∢𝑌𝑍𝑋| = 36°, 𝑥 = 0,9 𝑑𝑚, 𝑦 = 13,5 𝑐𝑚 

b) ∆𝑅𝑆𝑇: |∢𝑅𝑆𝑇| = 62°, 𝑟 = 60 𝑚𝑚, 𝑡 = 12 𝑐𝑚 
∆𝑂𝑃𝑄: |∢𝑃𝑄𝑂| = 62°, 𝑜 = 4,5 𝑐𝑚, 𝑝 = 0,9 𝑑𝑚 

c) ∆𝐶𝐷𝐸: |∢𝐸𝐶𝐷| = 47°, 𝑑 = 60 𝑚𝑚, 𝑒 = 4,6 𝑐𝑚 
∆𝐹𝐺𝐻: |∢𝐺𝐻𝐹| = 47°, 𝑓 = 6,9 𝑐𝑚, 𝑔 = 0,08 𝑚 

 
 
Příklad 2: 

a) ∆𝐴𝐵𝐶: 𝑎 = 48 𝑚𝑚, 𝑏 = 3 𝑐𝑚, 𝑐 =
6

25
𝑑𝑚 

∆𝐾𝑀𝐿: 𝑘 = 10
1
2 𝑐𝑚, 𝑙 = 168 𝑚𝑚, 𝑚 = 0,084 𝑚 

b) ∆𝐸𝐹𝐺: 𝑒 = 6 𝑐𝑚, 𝑓 = 120 𝑚𝑚, 𝑔 = 1
1

2 𝑑𝑚 

∆𝑃𝑄𝑅: 𝑝 =
9

5
 𝑑𝑚, 𝑞 = 72 𝑚𝑚, 𝑟 = 14,4 𝑐𝑚 

c) ∆𝐼𝐽𝐾: 𝑖 = 105 𝑚𝑚, 𝑗 = 8,4 𝑐𝑚, 𝑘 = 1
3

4 𝑑𝑚 

∆𝐹𝐺𝐻: 𝑓 = 15 𝑐𝑚, 𝑔 =
9

100
 𝑚, ℎ = 72 𝑚𝑚 

 
 


